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| Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25

| 3rd Month, Ist Week, 6th Day | Revision Test (1st Week) |

Q.1. Choose the correct options. 1x13=13) - /.fl?"'l(_.«lﬁw/;

(i) The next term of 17, 22, 27? ‘."L“L-'/f:(ﬁd/ﬂ, 22,27
(a) 32 (b) 34 (©) 33 d) 38

(ii) What is the next term of 56,53,50 _ ? ?c‘;g (Z(fld/ 56,53,50,
(a) 59 (b) 62 (©) 47 d) 44

(iii) The next three terms in the sequence are: 1,4,9,  ,

14,9, ., LSt

(a)| 25,38,47 |(b)| 25,36,49 |(c)| 25,36,48 |(d)| 25,37,47

S5 ES n+9=0

(iv) Identify the constantinn+ 9 =10

(@) 2 (b) 1 © 9 @ n

(v) Identify the variable in %XY (S It P %Xy

@ v & 3 e 0 @ !

(vi) What is the value of unknown? Cefed St
20%0f2000 = [ ]

@ 200 |m| 300 |©| 400 |@| 500

(vii) What is the symbolically form of the sum of number n and 29 is 15?

S Y U 15076 29 in s

@] n+29=15 |®)| n+15=29 [(@©)| n-15=29 [@)]| n=29-15

(viii)Identify the variable in 2x* +x+1: Y /L‘J 74 J/f“" L2t +x+1
(@) 1 (b) 0 (©) X () x?

(ix) What is the symbolically form of the sum of the number n and 8 is 30?

S U AW 6 30 57K 8oimsie

(@| n+8=30 |®)| n+30=8 || n=30+8 [@]| n-8=30

e Llix+Hx+x+x

(x) x+x+x+xis equal to: -

(a) 3x (b) 4x () X (d) x4

(xi) 3p +4q + 8p — 3q is equal to: ‘e-41x3p +4q + 8p - 3q

(a) 11p_q (b) 12p+q (©) I1p+q d) 11p+2q

(xii) (48xy _ 4z) _ (35xy +32) = ?

@] 1sxy+7z |®)| 13xy+7z || _I13xy_7z |@)]| 13xy_7z

(xiii) What is the next two terms in the sequences? 729, 243, 81

729, 243, 81 ?uggu:’)»ﬁu:.ﬂ:}

(a) 27,9 ®| 27,18 |@© 36,9 @| 45,36

(4x2=8) - M2l et f3ls
-Q_’/&l:fd/cf’../;}/}h};’

Q.2. Answer the following questions:
(i) Identify the constants and variables.
(@ 9x+y-37 () 7i+4=9
(ii) Write the algebraic terms of the following expressions.
—oF U AL 3t
(a) 4xy+6y-5 (b) ab+2

(iii) Write the following statements in algebraic expressions.

e tubg et st
(a) Cost of n litres of cooking oil at Rs. 170 per litre.
e 1702 SST T fn
(b) Product of a number n and four times a variable y.
-h,/’J’be/;‘"bC,wnm
(iv) Add the following terms. L NEN
(a) 98pq, 2qr, 23rs
Q.3. Solve: (1xd=4) g /S
(a) Subtract 35xy + 3z from 48xy - 4z.
U/ P Sha8xy — 429 35xy + 32

(b) 4xy, 23xy, 3xy

®) Subtract L s +3 m—8from =L s + L m+e.
3 5 3 5

oo o 1 1 1 3
—={+-m+6f/ - L+=m-8
-‘j“/‘j“/’:_uf 3 5 J/3 5



